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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ - nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his / her Roll No. on the question paper compulsorily.

2) g^r àíZ hb H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory to attempt.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.
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IÊS> - A

Section - A

{ZåZ{b{IV àíZm| Ho$ ghr {dH$ën Mw{ZE -

Choose the correct option for the following questions.

1) gm°âQ>dò a H$s loUr _| Zht AmVm h¡ - [1]

(A) gm°âQ>dò a (~) {gñQ>_ gm°âQ>dò a

(g) hmS>© dò a (X) EßbrHo$eZ gm°âQ>dò a

Does not fall in the category of software -

(A) Software (B) System software

(C) Hardware (D) Application software

2) noQ´>mob nån na Vob _mnZo Ho$ {bE à ẁŠV H$åß ỳQ>a h¡ - [1]

(A) {S>{OQ>b (~) EZmbm°J

(g) _oZ\«o$_ (X) gwna

There is a computer used to measure oil at a petrol pump.

(A) Digital (B) Analog

(C) Mainframe (D) Super

3) {ZåZ{b{IV _| go H$m¡Zgr EH$ AmCQ>nwQ> {S>dmBg h¡? [1]

(A) _m°ZrQ>a (~) _mCg

(g) H$s~moS>© (X) ỳ.nr.Eg.

Which of the following is an output device?

(A) Monitor (B) Mouse

(C) Keyboard (D) UPS
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4) {S´>n B[aJoeZ {gñQ>_ gd©àW_ {H$g H§$nZr Zo ~Zm`m? [1]

(A) ZoQ>mHo$_ (~) pñH$b

(g) emBZ (X) X BOam`b

Which company first created drip irrigation system?

(A) Netachem (B) Skill

(C) Shine (D) The Israel

5) {S´>n B[aJoeZ Cn`moJr h¡ - [1]

(A) nmZr ~MmZo hoVw (~) nmZr ~hmZo hoVw

(g) A d ~ XmoZmo (X) H$moB© Zht

Drip irrigation is useful for -

(A) To save water (B) To flow water

(C) Both A and B (D) None

6) {S´>n B[aJoeZ H$m {nVm H$hm OmVm h¡ - [1]

(A) S>m°. àH$me (~) S>m°. O¡H$~

(g) S>m°. E§S>agZ (X) {gåMm ãbmg

Father of drip irrigation is called -

(A) Dr. Prakash (B) Dr. Jacob

(C) Dr. Anderson (D) Simcha Blass
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7) {S´>n Q>on h¡ - [1]

(A) B§Q>rJ«b {S´>n (~) E|Q>rJ«b {S´>n

(g) A Ed§ ~ XmoZm| (X) Cn ẁ©ŠV _| go H$moB© Zht

Drip tape is
(A) Integral drip (B) Antigral drip
(C) Both A and B (D) None of Above

8) BZbmBZ {S´>na {H$g àH$ma Ow‹S>o ahVo h¡? [1]

(A) n§{º$ Ho$ gmW (~) n§{º$ _|

(g) n§{º$ Ho$ AÝXa (X) n§{º$ Ho$ D$na

How are inline drippers connected?
(A) Along the row (B) In the row

(C) Inside the row (D) Above the row

9) aoZJZ pñà¨H$ba {H$VZr Xÿar VH$ nmZr \¢$H$ gH$Vm h¡? [1]

(A) 10-20 _r. (~) 30-40 _r.

(g) 40-50 _r. (X) 50-60 _r.

How far can a rain gun sprinkler throw water?
(A) 10-20 meter (B) 30-40 meter
(C) 40-50 meter (D) 50-60 meter

10) _w»` nmBn bmB©Z H$s AmCQ>boQ> _| H$m¡Zgm nmB©n Omo‹S>m OmVm h¡? [1]

(A) PVC nmB©n (~) ñQ>rb nmBn

(g) ßbmpñQ>H$ nmB©n (X) a~a nmBn

Which pipe is connected to the outlet of the main pipe line?
(A) PVC pipe (B) Steel pipe
(C) Plastic pipe (D) Rubber pipe
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IÊS> - ~

Section - B

[aŠV ñWmZm| H$s ny{V© H$s{OE -

Fill in the blanks -

11) LAN H$m nyam Zm_ .......... h¡& (Local Area Network/Low Area Network) [1]

The full form of LAN is ____________. (Local Area Network/Low Area Network)

12) CPU H$m nyam Zm_ .......... h¡& (Central Productive Unit/Central Processing Unit) [1]

The full form of CPU is ____________.

(Central Productive Unit/Central Processing Unit)

13) ZoQ>dH©$ Ho$ ZoQ>dH©$ H$mo ............ H$hVo h¡& (BÝQ>aZoQ>/H$åß`yQ>a) [1]

The network of networks is called _________. (Internet/Computer)

14) ......... {_Å>r _| nmZr H$s H$_ ^ÊS>maU j_Vm Am¡a Cƒ g_mdoe Xa h¡& (aoVrbr/_¥{VH$m) [1]

________ soil has low water storage capacity and high assimilation rate.

(Sandy/Clay)

15) {S´>n qgMmB© àUmbr _| ........... Zm_H$ CnH$aU Ho$ _mÜ`_ go nmZr N>mo‹S>m OmVm h¡& ({S´>na/pñà¨H$ba) [1]

In drip irrigation system water released through device called _______.

(Driper/Sprinkler)

16) gyú_ qgMmB© àUmbr _| ........ Cn`moJr Zht h¡& (pñà¨H$ba/Zha) [1]

________ is not useful in micro irrigation system. (sprinkler/canal)
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17) {S´>n qgMmB© àUmbr Ho$ Ûmam nm¡Yo Ho$ ........ ^mJ _| nmZr nhþ§Mm`m OmVm h¡ - (O‹S>/VZm) [1]

Water is supplied to the ________ part of the plant through drip irrigation system.
(Root/Stem)

18) pñà¨H$ba qgMmB© àUmbr _| nmBn ZoQ>dH©$ Am_Vm¡a na ......... àH$ma H$m hmoVm h¡& (VrZ/Mma) [1]

Pipe network in sprinkler irrigation system is generally of ____ types. (Three/four)

19) g~_{g©~b nån .......... àH$ma H$m nån h¡& (go_rŠ ỳ~b/goÝQ´>râ ỳJb Q>a~mB©Z) [1]

Submersible pump is ________ type pump. (Cemicubal/Centrifugal turbine)

20) {S´>n qgMmB© àUmbr _| _w»` bmB©Z H$s g\$mB© Ho$ {bE ......... bJm`m OmVm h¡& [1]

(âbe dmëd/àdmh {Z`ÝÌU dmëd)

In drip irrigation system, _________ is installed for cleaning the main line.

(Flush valve/Flow control valve)

IÊS> - g

Section - C

{ZåZ{b{IV àíZm| Ho$ CÎma Xmo n§pŠV`m| _| {b{IE -

Answer the following questions in two lines -

21) qgMmB© Ho$ CÔoí` {b{IE & [1]

Write the objectives of irrigation.

22) pñà¨H$ba qgMmB© {H$go H$hVo h¢? [1]

What is sprinkler irrigation?
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23) aoZJZ pñà¨H$ba H$s hm{Z`m± {b{IE & [1]

Write the disadvantages of raingun sprinkler.

24) nmZr H$m nån {H$g àH$ma H$m ©̀ H$aVm h¡? [1]

How does a water pump work?

25) ñH«$sZ {\$ëQ>a Ho$ H$m ©̀ {b{IE & [1]

Write the function of screen filter.

IÊS> - X

Section - D

{ZåZ{b{IV àíZm| Ho$ CÎma AmYo n¥ð> _| {b{IE -

Write the answers to the following questions in half a page -

26) pñà¨H$ba H$s {H«$`m {d{Y H$mo g_PmB ò & [5]

Explain the working of sprinkler.

AWdm/OR

goÝQ´>râ ỳJb nån H$s ñWmnZm H$mo g_PmB ò &

Explain the installation of centrifugal pump.

AWdm/OR

{S´>n B[aJoeZ {gñQ>_ H$s ñWmnZm H$mo g_PmB ò &

Explain the installation of drip irrigation system.


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